Q.P. Code :19575
[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.
All questions are compulsory.
All questions have internal choice.
Draw neat diagrams wherever necessary.
Use of simple calculator is permitted.
Figures to the right indicate full marks.

N.B:

agkrownE

A) Select the best answer from the given options and rewrite the statement. (Any Ten) 10
) Opportunity Cost is the ------------ .

a) Price of a good or service

b) All out—of—pocket costs

c) Value of the best alternative sacrificed

d) Price that exceeds market price

i) If Kommoner’s lowers the price of its pizzas, -------------- :
a) Demand for Queen’s pizzas increases
b) Demand for Kommoner’s pizzas increases

¢) Demand for Queen’s pizzas decreases
d) Bothbandc

i) The supply curve illustrates how------- .
a) Quantity supplied increases as price decreases
b) Quantity supplied increases as price increases
c) Quantity supplied increases as technology improves
d) Quantity supplied increases as resource price decreases

iv) Demand is relatively inelastic when -------------- .
a) Eq=1
b) Eqd>1
c) Ea<1
d) Ea=0

V) When a 1% change in price leads to more than 1% change in quantity demanded, we
say demand IS---------=------- )
a) Relatively elastic
b) Relatively inelastic
¢) Unit elastic
d) None of the above
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vi)

vii)

viii)

Xi)

xii)
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Delphi method is a ---------- .
a) Survey method

b) Statistical method

c) Bothaandb

d) None of the above

For Ford Motor Company, all of the following are sources of economies of scale
except ------------ .

a) Mass production techniques used in the manufacturing of autos

b) Bureaucracy and red tape encountered as the firm becomes larger

c) Learning by doing which allows workers to become more productive

d) Additional specialisation made possible by large scale production

The negative slope of the iso-quant is due to ----------- :

a) Diminishing marginal rate of technical substitution

b) Zero marginal rate of technical substitution

c) Marginal rate of technical substitution is greater than one
d) None of the above

When a firm experiences economies of scale, -----------=--------- .
a) The long run average cost curve slopes downward

b) The long run average cost curve is vertical

c) The long run average cost curve slopes upward

d) The long run average cost curve is horizontal

An economist would argue that accountants tend to ----------- :
a) Understate costs and overstate profits

b) Understate costs and understate profits

c) Overstate costs and understate profits

d) Overstate costs and overstate profits

Sunk cost means ------------- .

a) Cost that is recovered

b) Cost of foregone alternatives
¢) Bothaandb

d) Neither a nor b

Breakeven point is reached when a firm----------- .
a) Earns zero profit

b) Covers fixed cost

c) Covers variable cost

d) All of the above
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B) Match the concept with its appropriate definition/explanation/description. Any Ten.

Concept Definition /Explanation /Description

)] Opportunity cost a] Cost of an additional batch

i) Graph b] Value of the best alternative sacrificed

iii) Law of supply c] Delphi method

(\%)] Perfect competition d] Price line

V) Survey method e] Initial cost of buying an asset.

vi) Promotional elasticity of demand f] Price and quantity supplied are
positively related

vii)  Iso-cost line g] Impact of change in advertising
expenditure on quantity demanded

viii)  Internal diseconomies of scale h] Benefits of joint production

iX) Economies of scope i] ~ Cost-volume profit analysis

X) Historical cost j] Horizontal demand curve

Xi) Incremental cost k] An increase in the scale of production
of the firm results in rise in cost per
unit

xii)  Breakeven analysis I] Diagrammatic representation of a
function

Q.2 Attempt Aand BOR Cand D
A) What is business economics? Discuss the relationship between economic concepts and
business decisions.

B) Given the following data. Calculate TR, AR, and MR. Explain the relationship between
a) TR and MR and b) AR and MR

Q 1 2 3 4 5
P 100 90 80 70 60
OR
C) The following table describes the market for floppy discs before pen drives were
introduced.
Price (Rs) Quantity Demanded of floppy Quantity Supplied of floppy
discs discs.
100 1500 700
200 1300 900
300 1100 1100
400 900 1300
500 700 1500
) Plot the demand and supply curves from the table given above.

i) What is the equilibrium price and equilibrium quantity?
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i) At the price of Rs. 200 what is the equilibrium quantity demanded and quantity
supplied?

Iv) When pen drives were introduced the demand for floppy discs decreased. Does
the new demand curve shift to the left or right of the original demand curve?

D) Using diagrams explain the causes of changes in demand in terms of movement along 07
and shifts in the demand curve.

Q.3 Attempt Aand BOR Cand D

A) What are the determinants of demand? 08
B) Given the following data, calculate price elasticity of demand for wheat when price 07
increases and when price decreases. State whether the demand for wheat is elastic or
inelastic.
Price of wheat Market demand for wheat
15 5000
20 4500
OR
C) What is demand forecasting? Explain the various types of demand forecasting. 08
D) Explain the least squares method of demand forecasting. 07
Q4 Attempt Aand BOR Cand D
A) What are isoquants? Explain the properties of isoquants. 08
B) Explain the law of variable proportions. 07
OR
C) Explain the least cost combination as producer’s equilibrium. 08
D) Explain external economies and diseconomies of scale. 07
Q5 Attempt Aand B OR Cand D
A) Distinguish between short run and long run costs. 08
B) Given TFC as 55 and the following data, calculate TVC, MC, AFC, AVC and AC 07
Q 1 2 3 4 5
TC 75 90 110 135 170
OR
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C) Derive the LAC curve using the short run average cost curves of a firm. Why is it called
a planning curve?

D) What is the learning curve? Explain with a diagram.

Q.6 Attempt A and B OR Write short notes on any four.

A) Explain changes in equilibrium due to:
a) Changes in demand and
b) Changes in supply

B) What is the breakeven point? Using diagrams explain how the breakeven point changes
when there are changes in price and variable cost.

OR

Q.6 Write Short Notes. Any Four

i) Functions and equations

i) Steps of demand forecasting

iii) Types of isoquants

Iv) Internal economies of scale

V) Fixed and variable cost

vi) Limitations of breakeven analysis
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Please check whether you have got the right question paper.
=T %) T T AT AT
R) Td FEHT I T 3T,
3) TR T GoIeh HTHAT HIal,
%) HTEAT 10T AT STIR HATE LTI 3T,
Y) ISTeftehgiet e quf 10T SifordTal.

w.e  focican Ty A ST fHae s aTe Il foTel. (SRIVTdET 381)

a) I&q fehal ga=ht fehra

b) a1 Rawrdia @

¢) TN hoiedT el T Jed
d) TSI fohmeht ver 3iferes fehma

2) SIegT ML ATIHT [Ug=i fohura il shal--oaommmmmev .
a) Fefi=an fuss=h gt ared
b) AT fUgem=t AFTf aTed
c) FTea TUgeT=t AT Jed
d) gl b 31T ¢ v

3) ST a5k T wor el i
a) ehHd BT YRegAT= HEHT e
b) fohud e ST HE&AT red

¢) AT YT HTeA LA T dTed
d) 3cUTE BT fohwdl Heear Qagar= € ared

AR I RGP E NG G e E i 12 [ A [ —— ,
a) Ed=l
b) Ed>1
c) Ed<1
d) Ed=0
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Y) SteaT fehmeiefiet % % TacITHes HITOfi=T TRCETOTT % SIae Sral degt SATI0T HRTOfiell 318 Hererat
a) SAfRIF AaraH
b) 3ferek At
c) Ueheh AdT<h
d) SeTieht et

&) STh! 95T (Delphi method) TR T ---cmmmmmmmmeeav \
a) TN TG
b) HEARIET 9gd
c) e a ST b
d) SOerieht et

\9) WIS AT Shu=TET3T WiciIeTdeh! T THTUT=AT S &d 31Tad (3161 (TTATE)=-mmmmmm-
a) TTSAT=AT SCUTETETST AT AT SeATeATeE ! 3Tk o
b) ST HIGHT FHIVITT ATECAT IR STV TEETIIUT HHET IEHaeAT
c) SHIFTRIE ScaTashl STTHAT 1shedT dTed
d) TR oo g SHToTdieT Scata IR Siet

C) HHI[ad denldl Hienld SdLdl HHA iVl - p
a) MRTS = ¥ed @&y
b) MRTS = [ F&&q
¢) MRTS &1 THIUET AfH
d) et ATt

])  SoRT ICATG ST THTOTT=AT STl STHA,—-cenomem ,
a)  SYEhTeA LrER) T Jsh Savdr 3T
b) ETERTCAI TR T agh 3UT o 7Hal
¢) el TRER) G sk e TR STl
d) SelpreflT Te G ash ferdist aHiat stEar

%0) TR HURITEF HTHG STh i ohl AR GATHD —--mmmmmmmmmemn .
a) TTHRITCAT ST ST Tt ST i STTsa
b) ST SATTUT T SENHT SHHT it STse
c) Tt TR ST THITeT FHT et SIS
d) @ ST THT ST AT e A5
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d) afe T smfor b & T

§3) ICATE T B Tofg STH T SFERT - _
a) [ THT FHHAA
b) TR T W& wred

¢) SEAdT T WE FHled

d) et ad

B)HeRIHT SATIOT =T W16 AT / Tos 0T / i S[aalT. (ShTUTdet <87 )

TR =TT / fasgwr / avia
%) "t @ a) SATereFH=AT GHE / T @
Q) AT (ITH) b) WA TR RN Hed
3) agamE I ¢) STl 9gd (Delphi method)
¥) ot Eef d) fehma
Y) eI IEd e) HICTH G sheT= GLalTdi= @
&) ATTOf= Yada Aafeehdn f) fehHa STTOT QLaraT aREToT ArHeler eTeHes Hey
o) FH-TE T g) STTeTd G ideIae ACATHos HITUM=AT qiCATuTd
SATCIAT ST
¢) THTUTT=AT SAid slerere h) HIH TGS B
R) THTOT=AT STl STdehd i) T T UTdest s
% 0) UfcreTiees @ i) Terdhist gwiar wrToft ok
%%) AT T (IshHTS I ) k) SCATEAT=AT JHTUIA a6 e Ifd 777 @il gieteft
e
8 R) T foig fersemor 1) STTeRd=AT RN %ol h v,
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g3 A 3 B fekar ¢ =1t D . 3 el s forer.
A) STFHTI ST FEUS 1?2 IATTeh HehodaT SATOT sFawiyes fHuia araefier deiemea ==t . ¢
B) Wrefier ATfecfi=at ST TR, AR HTM0T MR = 70T 1. qEleitiehl ariaellel dee fowa . o
a) TR 31T MR, 2ATfor

b) AR ATT MR
Q 1 2 3 4 5
P 100 90 80 70 60
C) WAl THFcATHE U gT3e8 TAT TS T Te&eh =T SIS 9vi ahel 3712, ¢
fhId (Rs.) AT =T HETOM ST | oo =T QL gl 68t

100 1500 700

200 1300 900

300 1100 1100

400 900 1300

500 700 1500

%) I qehcTare WM SATIOT ST Ssh e,
R) EHAIA fod STV AT HETO ST qaGaT= HeaT fohel! 318?
3) TECEAT R0 &, Tohude RO ST qLargar= ST fohrd 3112
¥) SiegT SITSIRIA U gT8e8 AT FeTdl feeeh =i AnTofi<l afiHTor shel SiTet. ATHes Hes HRTf
ICHTOT ST ST, ATHob Hod WRTIN S5k STeAT fohdl SSTeaT SITS[eAT Elehat?
D) ST ST SHEA HTTUf kT TIATALOT STOT TehTer URToft Fshrardiet wrofi=f grene smfor @
[RICIEA AR CHC
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¥.3 A 3fr B fekar ¢ ifor D am werih 3 forr,
A) i it w2 v 3TRd?
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B) fecea mfdiear e Sisgt fohma ared 3for srea qegt Tegrear Aroftet cafoshar Jis. T8
A 61 TeRTETE] AT SAeIf<reh T8 ohl Teraf=ren,

TTegT= T TSETETST TSI HITOfT
15 5000
20 4500
feraT

C) TTTUf=IT YiTehTef S7ETST Fevisl Shig? ANTUi=aT WiasTenTetiT fers fefay Jehr fowe =,
D) ARTU{=aT WiasehtetiT et formm ot uga (fore Them uga) fawe .

T A T B feham € amfor D 3 gi=ht 3o foe.

A) HHITE J5h FEUIST 2 GHICATE Sshrall AT forg o .

B) SEetcaT JHTOTET fm fae &,

feRar

C) SCATSHT=AT ST (o Gl HANT forwa .

D) JHTUTT=AT SITe] s=rct SATOT srarereit ferg s,

T4 A 3T B fekar € 3mfor D Ir el S foe.

A) STIRICA AT SFelehreli Tataefier Bieh T8 3.

B) SR TFC = 55 {01 Wreflet Arfed! 2t 18T, TVC. MC, AFC, AVC 3ATfoT AC TS,

Q 1 2 3 4 5
TC 75 90 110 135 170
fRar

o ¢

C) U= AIHIA TUER] T FehraT SUINT e fqeiehTe= Tt sk (LAC) i@t . 3T Tehlal

ST =5k &1 FRTdTa?

D) 3T F5h FaUISl I ? STThd e foI9g &,
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7§ A ST B AT Tt S ferer feha st wmer fout forer .
A. ST Sed 978 3, (a) ARTOMIE S&et ST (b) eI S&a.
B. | feig FEUTS! h1er? STl =T ST e fore 1 foh Siet fefimre 3101 seetedr @rid st

fehar

feur forer: (uTeTE 9w

i) e SATOT TR

i) AmTofeaT Wit e T

iii) 9 ScdTe Ishi ThR

1v) JHTOT=AT AT ST

v) T nfor seerar @<

vi) gafeig fersgomm=ar e,

sk sfe sk sk sfe sk sk sk skosk sk skoskok sk
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